@aitn: M-32.2000M kar Cocrasnen: 01.04.2015 Jlucr 1 u3 3
Jbm Kopn HaumMeHoBaHue aeranu XapakTepucTuka Lo,
cxeme IOT./ U311,

306.02.01.00.00 Bykca B c6ope 1
1 306.02.01.04.00 Cronop 1
2 306.02.01.02.00 Bykca 1
3 138.02.01.05.00 [pyxuna 1
4 306.02.01.03.00 KoJb110 1
5 00.02.99.02.03 Konblo npyxuHHOE B10 1
6 138.02.02.08.00 Kombmo D74x2 1
7 00.02.04.04.12 Boar M8x30 10
11 138.02.02.07.00 Kombmo D46x5 1
12 138.02.02.06.00 ITpommacca 1
13 138.02.02.03.00 Koo ymnoraurenabHoe 262x3 1
14 306.02.02.01.00 Mamnskera D37.2x026.6%5 1
15 138.02.02.05.00 Bryska 1
16 138.02.02.02.00 Brynka nonuyperanoBast 1
17 138.02.02.01.00 KoJb110 1
18 51.02.02.04.01 Brynka-ctonop 1
19 51.02.02.04.00 ITpoknaaka pe3uHOBas 1
20 51.02.02.03.00 KoJb110 2
21 51.02.02.02.00 Koo ynnoraurenabHoe 1
22 306.02.02.02.00 Kopnyc cTBona 1
23 00.02.02.01.08 [ITaii0a npy>X1HHAs 28 4
24 00.02.02.02.06 111aii0a mmockas 28 4
25 306.02.02.03.00 KounbIo pesuHoBoe @53x@2.5 1
26 51.02.02.01.00 Y napHuk 1
27 138.03.01.10.00 Kosb1io D35x5,5 1
28 138.03.01.07.00 Iopmiens 1
29 138.03.01.08.00 Manxera 035x7 1
30 51.03.01.09.00 [Masen 1
31 51.03.01.04.00 Maryn 1
32 51.03.01.05.00 [laiiba 1
33 00.01.02.01.15 TToamMMmHUK UroJIbYaThIA (18x26x20) 1
34 51.03.01.06.00 Bunr M8x1x35 1
35 00.02.01.04.01 Bunr M6x20 22
36 00.02.04.04.14 Bunt M6x25 2
37 306.05.00.11.00 BepxHsis kpblllka KopImyca 1
38 306.03.00.05.00 Kpslika penykropa 1
39 00.01.01.01.48 [oamuImHIK MapuKOBBIH 63027 (15x42x13) 1
40 51.03.00.08.00 Konblo npyxunHoe B22 1
41 | 51.03.00.07.00 Korseco 3y0uaToe Z=73 1
42 51.03.00.06.00 Konsno perynupoBounoe 1
43 00.02.04.04.18 Bunr M6x35 6
44 | 306.03.00.02.00 [t mpoMeXyTOUHBIH 1
45 306.03.00.01.00 Kombo 2109%x@3.1 1
46 00.01.01.01.90 [ToAmUTHUK MIapUKOBBII 6205DD (25x52x15) 1
47 51.03.00.05.00 Kpsiiika moanmimaaKoBast 1
48 00.02.04.04.06 BunT M5x12 I
49 51.03.01.01.00 KpuBomumn 1
50 51.03.00.11.00 Htudt 05x14 2
51 306.03.00.06.00 Kopmyc peaykropa 1
52 138.03.00.11.00 Ipoknaaka @20x32 1
53 138.03.00.13.00 [TpoGka 1
54 306.05.00.12.00 HuokHss kpbllika Kopiryca 1
55 00.02.03.01.52 Bunr ST4.8x35 2

NHTEPCK{ON

KarTaior 3ammacHBIX JacTEeH U3AEIIHSI

HeiictBureneH c: 01.04.2015r.

MOJIOTOK quHoﬁ
SJIEKTPUYECKUIA

M-32/2000M




@aitn: M-30.2000B_kat

Cocrasien: 01.04.2015 ‘

Jluct 3 u3 3

56 | 00.01.01.01.41 IToAMMIHUK IIAPUKOBBIIT 6201RZ (12x32x10) 1
57 306.03.00.04.00 Koneco 3ybuaroe 7=42 1
58 306.03.00.03.00 Kpsiiika moanmmaaKoBast 1
59 | 00.02.04.05.05 Bunr M5x10 2
60 51.03.00.09.00 Kpsimika moamumauka 1
61 | 00.01.01.01.91 IToAMMIHUK IIAPUKOBBIIT 6203DD (17x40x12) 1
62 | 00.01.01.01.16 IMoIIMIHUK IIAPUKOBBII 6001 RZ (12x28x8) 1
63 51.03.01.03.00 Inonka 4x16 2
64 | 306.03.01.01.00 Brynka 1
65 306.04.02.01.00 SIKOpb ¢ BEHTUIISITOPOM 1
66 00.01.01.01.30 ITonMmUIHUK MApUKOBBIN 6201RS (12x32x10) 1
67 306.04.00.01.00 Huadparma 1
68 | 306.04.01.00.00 Crarop 1
69 | 00.02.03.01.22 Bunt 5x70 2
70 | 00.02.02.01.05 [laiiba @5 2
71 306.04.00.02.00 CrakaH-H30JTOp 1
72 306.04.03.01.00 IeTkonepxarens B cOope 1
73 | 00.02.03.01.04 Bunt ST4.2x16 6
74 306.04.03.02.00 IIpyxuHa KpyueHUst 2
75 306.04.03.03.00 I1éTka 2nexTpuIecKas 6.5x17x26MM 2
76 306.04.00.03.00 Kopmyc BeIxiouarens 1
77 00.02.04.04.30 Bunt M5x16 4
78 306.04.00.04.00 BrikmouaTens 1
79 | 00.02.03.01.06 Bunt ST4.2x18 2
80 00.10.09.01.01 Komoaka knemMmHas 2
81 51.04.00.13.00 [Tnanka ¢pukcanuu mHypa 1
82 306.04.00.05.00 Hpoccens 1
83 306.04.00.06.00 Wnaukatop 1
84 306.05.00.01.00 OcHOBaHUE PYKOSITKH 3aHEH 1
85 | 306.05.00.02.00 [laiiba 1
86 306.05.00.03.00 [Mpy>xuna nemngepa 1
87 306.05.00.04.00 Ob6osouka gemndepa 1
88 306.05.00.05.00 PykosiTka 3agHs151 1
89 306.05.00.06.00 Boar cnenuanbHbIH M14 1
90 306.05.00.07.00 3arnymika pesuHoBas-1 1
91 306.05.00.08.00 3aruymika pe3uHoBasi-2 1
92 306.05.00.09.00 Brynka gekopatuBHast 2
93 | 00.02.01.01.08 lajika M8 1
94 | 306.05.00.10.00 Boar M8 1
95 | 00.02.03.01.01 Bunt ST4.2x10 2
96 306.04.00.07.00 Bxnagprmn 1
97 306.04.00.08.00 Jepxartens MHypa NUTaHUS 1
98 306.04.00.09.00 Brynka 3amuTHas mHypa 1
99 00.10.02.03.03 IITryp nuTaHus ¢ BUIKOI HO7VV-F/2x1,5 mm” 1

306.05.01.00.00 PykosiTka 1onotHuTEIbHASA B cOOpe 1
100 | 306.05.01.01.00 PykosiTka 1
101 | 51.05.00.09.00 BuHT cnenpansHbIH M8x10 2
102 | 306.05.01.02.00 Bounr cnenuainbHbII M10x113 1
103 | 51.05.00.02.00 BcTaBka 2
104 | 306.05.01.03.00 Xomyt 1
105 | 51.05.00.04.00 MaxoBHK 1
106 | 51.05.00.05.00 lajika cienuagbHas 1
107 | 00.30.10.03.00 Kurou S4 S4 1
108 | 00.30.10.01.00 Kutou S5 S5 1
109 | 00.30.10.04.00 Kutou S6 S6 1

NHTEPCK{ON

KaTaior 3ammacHBIX JacTEeH U3IAEIIHSI

HeiictBureneH c: 01.04.2015r.

MOJIOTOK quHoﬁ
SJIEKTPUYECKUIA

M-32/2000M




@aiin: M-30.2000B_xkat Cocrasnen: 01.04.2015 Jlucr 3 u3 3 ‘

110 | 51.01.04.05.00 OTBEpTKa 1
111 | 51.01.04.06.00 Maciio MoTOpHOE 60r 1

MHTEP:KQR KaTasor 3armacHBIX yacTell U31SJTUST

o MOJIOTOK PYUYHOU
JeiictButenen c: 01.04.2015r. SITEKTPUUECKII M-32/2000M




	ST4.8×35

